
K  ( 2 : 1 )

L-L  ( 0.08 : 1 )

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

University of Cambridge, Department of Physics

CAVENDISH LABORATORY

Title:

Project: Scale: Size:

Drg. No.Date: Quantity:
SI

14/06/06 1 off

MROI A0

Assembly - NMT test rig

MROI-087
Drawn by:

X S

Chk. by:

DMAW

1:4

Parts List

ITEM QTY PART NUMBER DESCRIPTION

1 1 MROI- Sub assembly - Pipe section 4 . To be submitted

2 4 MROI-089 Pipe clamping strip

3 12 MROI-S* 12mm threaded rod. 760mm long

4 3 MROI-S* Flex- seal, SC410, Type 2B. Flex-Seal Couplings Ltd, UK

5 48 MROI-S* 1/2 inch plain washer

6 48 MROI-S* 1/2 inch Hex nut

7 1 MROI-088 Pipe section 3

8 2 MROI-072 Sub assembly - Pipe support 

9 1 MROI-084 Pipe section 2

10 12 MROI-S* 20mm narrow palin washer

11 12 MROI-S* M20 Hex Nut

12 1 MROI-083 Sub assembly - Anchor support 

13 1 MROI- Pipe section 1 assembly. To be submitted

14   Concrete floor

15   10mm thick grouting material. Use 4xM10 screws for the 

10mm spacing before grouting.

16 8 MROI-S* Hilti 1/2 inch chemical anchor stud. Studs enable the supports 

to have a height adjustment of about +-8mm.

17 4 MROI-S* M10 Hex nut

18 8 MROI-S* M10 narrow plain washer

19 4 MROI-S* M10x40 hex bolt

20 15 MROI-S* 6x40 Slotted Stainless Steel Pin from Anglian Fasteners. The 

slots of the pins should be toward outside.   

21 3 MROI-S* RS Components, no. 187-0490 stainless shakeproof washers.  

Only apply to the bottom pin (the central one) of each pipe 

joint.

K

L L

1 2 3 4 5 6 7

8

9 10 11 12 13

16 1415

20

21

5
0
8
,0
0

85,70

85,70
152,0 130,001231,00

4
8
4
,8
0

Value determined by NMT

Value determined by NMT

1819
17

M10
Used when grouting to give 10mm space


